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DIVIDEND CALCULATION

The most familiar version of the DCF model uses as the dividend yield (D1/P0) - the dividend expected to be received one year hence divided by the current price.  However, this form of the model assumes that the investment is made at time (t=0) and the dividend is received one year later, at time (t=1).  For this reason, (k = D1/P0 + G) is sometimes referred to as the "annual compounding" DCF model.  Another widely used version is (k = D0/P0 + G).  This is known as the "continuous compounding" model because it uses the current dividend, which is assumed to be paid continuously.  Both are incorrect for use in determining the investors' required return for common stocks.


Since the dividend yield portion of the DCF model should represent the dividends per share expected to be received within one year divided by the stock price, the yield depends on the timing of the investment.  If the investment is made between the time that a new dividend per share has been announced and the ex-dividend date, the expected yield will equal D0/P0.  If the investment is made after four quarterly dividends have been paid at the current rate and before a dividend increase is announced, the expected yield will equal D1/P0 or D0(1+G)/P0.  There are actually five possible expected annual dividends to be received within one year depending on the timing of the investment.  They are expressed in terms of D0 as follows: 



Number

Expected Annual Dividend


  1


4  (D0/4)



  2


3  (D0/4)  +
   [D0(1+G)/4]



  3


2  (D0/4)  +
2  [D0(1+G)/4]



  4


   (D0/4)  +
3  [D0(1+G)/4]



  5




4  [D0(1+G)/4]


The sum of the five possible expected dividends is 10 (D0/4) + 10 [D0(1+G)/4] or 2.5 [D0(2+G)].  The average expected annual dividend is equal to the sum of all possible annual dividends divided by five.  The average expected annual dividend is .5 [D0(2+G)] or D0(1+.5G).  Therefore, the appropriate adjustment factor for computing the dividend yield is (1+.5G). 

